R g2 g= 87 F £
114217 1p 2114237 31p (- %)
H [
78 i &3 BAEHF

&2 T (A=14243) 1,186,378 1,120,133
QD) 317, 229 250, 937
A Z B 0 - E PRI 2 T R A(2) 869, 149 869, 196
FAHRE - £ R 2 2 AR(3) 0 0
wfh T RRF A (B=4-5+617) 1,005 33,169
b 2T AU 869, 149 869, 196
W EBFARBFYEZ B0 o - E N R 2 2 A2 3%(5) 869, 149 869, 196
s {4578 (6) 161 29, 785
Rt Ll E NG 844 3, 384
wdp f R p F(C=8-9+10+11+12-13) 184, 668 202, 844
ds g (8) 179, 816 197, 460
ands A T R AT BB £237(9) 4,248 4,272
3~ e £ (10) 9,100 9, 656
M 1 g A (11) 0 0
e 2 F gtk 7 (12) 0 0
Rfcn ESEIETE i R R ITH A REEE 22 30(13) 0 0
FAFABT A AR EERD) 28,413 24,173
v * F £ (E=A+B-C-D) 974, 302 926, 285

] Iﬁ‘uﬁi TR E(FRDIHE P B PP T FHE) b ARE
A

Tk - BRI Y FHERTAT 3 HDEF- £ Fillﬁw Ed ,Fr#ﬁ%k o
20BN T RRFTAGH E RN BEIREL MBS GRT R ¢ 5 A
HoBPRBERBRTAFEGEYF 2B UL o - ENFIHZ ZH FH

M AR F RSP A HREL LR A R IRE LR B EEE  BHRE A

ELARRRT T L UEEEE PR T e E AR

4 FAPABIEFARNFEIRT L B FSM T AP AR A S~ R A T

BRI EABERTAE - A ‘Ibpﬁ€£1§5 v;’;;#ﬂéu%éﬂ‘ﬁ* kA
bi P T LG FREIREZ al%éc e P RRFT A e FHREGFET

L FRE RS RTEY LT 4

o

ETHRHRPEF=ZB

AP TE N AR

e 2

FEFTAFLD

1:114# %1% (114/1/1-114/3/31) &7 * F AR ERD 45 248,017+ ~ > 1 & G ¥ B RABEFHFEF

2138 ER %289 F P F AFERE MR o
2:114# %1% (114/1/1-114/3/31) £ M * i 4eT

S i (£R)
10007 + ¢ » 136, 718
2000FR.7% 3 * 77,410
300044 % * &% 2, 679
400042 £ 2 {1 & 646
500047 # ~ 4745 % fidd 29, 827
600042 25 (s dlf) 36
T000§ § ~ 472~ AF et~ A frmt () 23RS 5, 725
80004 ~ P 1f 87 7 24 4 22
9000 # 20
& 3 253, 083




